Method 03 - Nine Groups - Pali and Translation

(One example is given, for each group)

1. (179) Vedanakkhandhena ye dhamma khandhasangahena asangahita ayatanasangahena
sangahita dhatusangahena sangahita, te dhamma Kkatihi khandhehi katihayatanehi katihi
dhatihi sangahita? Te dhamma asankhatam khandhato thapetva tihi khandhehi ekenayatanena
ekaya dhatuya sangahita. These states are unclassified using the aggregates, classified using
the bases, classified using the elements by the feeling aggregate. Under how many aggregates,
under how many bases and under how many elements are those states classified? Those states,
excluding nibbana from the classification of aggregates, are classified under 3 aggregates,

under 1 base and under 1 element.

2. (179) Saifakkhandhena ye dhamma  ye dhamma khandhasangahena asangahita
ayatanasangahena sangahita dhatusangahena sangahita, te dhamma Kkatihi khandhehi
katihayatanehi Kkatihi dhatahi sangahita? Te dhamma asankhatam khandhato thapetva tihi
khandhehi ekenayatanena ekaya dhatuya sangahita. These states are unclassified using the
aggregates, classified using the bases, classified using the elements by the perception
aggregate. Under how many aggregates, under how many bases and under how many elements
are those states classified? Those states, excluding nibbana from the classification of

aggregates, are classified under 3 aggregates, under 1 base and under 1 element.



3. (179) Sankharakkhandhena ye dhamma khandhasangahena asangahita ayatanasangahena
sangahita dhatusangahena sangahita, te dhamma Kkatihi khandhehi katihayatanehi katihi
dhatihi sangahita? Te dhamma asankhatam khandhato thapetva tihi khandhehi ekenayatanena
ekaya dhatuya sangahita. These states are unclassified using the aggregates, classified using
the bases, classified using the elements by the mental formation aggregate. Under how many
aggregates, under how many bases and under how many elements are those states classified?
Those states, excluding nibbana from the classification of aggregates, are classified under 3

aggregates, under 1 base and under 1 element.

4. (180) Nirodhasaccena ye dhamma khandhasangahena asangahita ayatanasangahena sangahita
dhatusangahena sangahita te dhamma Katihi khandhehi katihayatanehi katihi dhatthi
sangahita? te dhamma cattihi khandhehi ekenayatanena ekaya dhatuya sangahita. These states
are unclassified using the aggregates, classified using the bases, classified using the elements
by the cesssation truth. Under how many aggregates, under how many bases and under how
many elements are those states classified? Those states, are classified under 4 aggregates,

under 1 base and under 1 element.



5. (182) Itthindriyena ye dhamma khandhasangahena asangahita ayatanasangahena sangahita
dhatusangahena sangahita te dhamma katihi khandhehi katihayatanehi katihi dhatthi
sangahita? te dhamma asankhatam khandhato thapetva tihi khandhehi ekenayatanena ekaya
dhatuya sangahita. These states are unclassified using the aggregates, classified using the
bases, classified using the elements by the female faculty. Under how many aggregates, under
how many bases and under how many elements are those states classified? Those states,
excluding nibbana from the classification of aggregates, are classified under 3 aggregates,

under 1 base and under 1 element

6. (181) Jivitindriyena ye dhamma khandhasangahena asangahita ayatanasangahena sangahita
dhatusangahena sangahita te dhamma katihi khandhehi Kkatihayatanehi katihi dhatahi
sangahita? te dhamma asankhatam khandhato thapetva dvihi khandhehi ekenayatanena ekaya
dhatuya sangahita. These states are unclassified using the aggregates, classified using the
bases, classified using the elements by the life faculty. Under how many aggregates, under how
many bases and under how many elements are those states classified? Those states, excluding
nibbana from the classification of aggregates, are classified under 2 aggregates, under 1 base

and under 1 element



7. (183) Jhanena ye dhamma khandhasangahena asangahita ayatanasangahena sangahita
dhatusangahena sangahita te dhamma katihi khandhehi katihayatanehi katihi dhatahi
sangahita? te dhamma asankhatam khandhato thapetva dvihi khandhehi ekenayatanena ekaya
dhatuya sangahita. These states are unclassified using the aggregates, classified using the
bases, classified using the elements by the jhana. Under how many aggregates, under how
many bases and under how many elements are those states classified? Those states, excluding
nibbana from the classification of aggregates, are classified under 2 aggregates, under 1 base

and under 1 element.

8. (188) Cetasikehi dhammehi ye dhamma khandhasangahena asangahita ayatanasangahena
sangahita dhatusangahena sangahita te dhamma katihi khandhehi katihayatanehi katihi dhatthi
sangahita? te dhamma asankhatam khandhato thapetva ekena khandhena ekenayatanena ekaya
dhatuya sangahita. These states are unclassified using the aggregates, classified using the
bases, classified using the elements by the mental factors. Under how many aggregates, under
how many bases and under how many elements are those states classified? Those states,
excluding nibbana from the classification of aggregates, are classified under 1 aggregate,

under 1 base and under 1 element.



9. (189) Cittasahabhtahi dhammehi ye dhamma khandhasangahena asangahita ayatanasangahena
sangahita dhatusangahena sangahita te dhamma katihi khandhehi katihayatanehi katihi dhatahi
sangahita? te dhamma na kehici khandhehi ekenayatanena ekaya dhatuya sangahita. These
states are unclassified using the aggregates, classified using the bases, classified using the
elements by the states which arise together with consciousness. Under how many aggregates,
under how many bases and under how many elements are those states classified? Those states,

are not classified under any aggregates, under 1 base and under 1 element.



